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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

IetHan

ENTREPRENEURSHIP
fAEia aas : 3 gve S7ferBadH 3% : 70

Time allowed : 3 hours Maximum Marks : 70

98 1 P.T.O.



QT 3597
i) Yt yeT AT § |

(i) T B FoT GEIT24 & |
(iii) Ycd% ¥ & 3 3G% T3 [T 10 E |
(iv) Y97 GeI11 @5 a% 317 Tg-IR aIct 597 &, e 597 F11 37 & |

(v) I &6 T 10 T TY-IR qI7 J97 &, T9%F Jo7 & 2 3% & |

(vi) T GEIT11 T17 TF F7-3H—1 TA I E, JIAH JoT 5 3 HF & |
(vii) Y97 G&IT 18 @ 21 % G153/ — 11 TI7 J97 &, Jedh Jo7 4 IH & |
(viii) 397 GCIT 22 T 24 TF [HF-¢HF IR Tt F97 &, I 9% J97 3 6 3% 3 |
(ix) 3 & IR Tl 3 GRIAYT &1 |

General Instructions :
(1) All questions are compulsory.

(it)  There are 24 questions in all.
(iti) Marks for each question are indicated against it.

(iv) Questions No. 1 to 5 are Very Short Answer type questions, carrying

1 mark each.
(v) Questions No. 6 to 10 are Short Answer type questions, carrying 2 marks each.

(vi)  Questions No. 11 to 17 are Long Answer — I type questions, carrying 3 marks

each.

(vii) Questions No. 18 to 21 are Long Answer — II type questions, carrying 4 marks

each.

(viii) Questions No. 22 to 24 are Essay Answer type questions, carrying 6 marks

each.

(ix) Answers should be brief and to the point.
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Give the meaning of an entrepreneur.

qTICR o <Ticd i 3@ iU |
State the liability of a partner.

‘Tehishd aral 1 T 379 g ?

What is meant by ‘integrative negotiations’ ?

“Torsha sote” e ‘Todue sioie” ® st=ave il |
Differentiate between ‘Sales Budget’ and ‘Marketing Budget’.

dIUeh LIS ST UeW | Ueh <1 3cUTeeh 3oh1g = | Tafie Sron & sHeh! &1
B M G UST I FSA 3 3H T MR Fohls =ifNd R feam | saeh 4
ufmmfaat oft, 9fc 38 fo<ft wgmar yg@ i A1 @k dl 3k gAecA h
YT 2 |
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&G L Rl 7, T8 I §C foh 1 o o QI8 *I5 duTieaes Sfaqfd &
T |ehdl |

Deepak Industries is a sugar manufacturing unit in U.P. Due to various

reasons it started running into losses and was declared a sick unit by the
State Confederation of Industries. It had assets and probability to revive
if financial assistance could be made available.

Name the financial organisation that can help Deepak Industries in this
situation knowing well that it cannot furnish any collateral security

against the loan sanctioned.
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‘Safe Wheelers’ is an upcoming cab service. The promoters knew that
they are entering a highly competitive market. They gathered
information on existing cab services and changing customer preferences
and incorporated those observations into their operations. In order to
reach the customers promptly, they developed an ‘App’ to book, track and
trace the cabs 24x7. To create an environment of trust all drivers were
grouped into two shifts : 6 am. — 6 p.m. for female drivers and
6 p.m. — 6 a.m. for male drivers. GPS systems were installed in all cabs to
monitor their movements. The fare payment could be either by an
e-wallet or through the ‘Safe Wheelers Smart Card’. As soon as the
services were launched, they were a grand success.

Identify and explain the concept that helped the company to succeed.

‘Trerfie e qen ‘qEmes gvEd e % e 3 % SIS al fag ST |

Give any two points of distinction between ‘Basic Idea’ and ‘Post

Scanning Idea’.
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Rajiv and Ramesh entered into a verbal agreement to form a firm. They

agreed to share its profits. Their business was running smoothly. One
day a dispute arose between Rajiv and Ramesh regarding the profit
sharing ratio. Rajiv decided to move the court and enforce his rights
against the firm and Ramesh.

Will Rajiv succeed ? Give reasons in support of your answer.

A9 IATE Bl e v o U wes wrl grn fafie wgfaai =1 3w feman
ST Gehdl B | $TH | Teh GaeH ST [SATsd g’ S SaR-HIEIHi 1 ST 3
fSTErepT 3299 ST Ug=H ol LATIUd T B |

39 Ugfd ! UgaTHT Td TSR |

Various approaches may be used by a company to promote its products.
One of them is the use of mass media methods by designing a promotion
strategy that aims at establishing brand identity.

Identify and explain this approach.

wrdr SR T faf 9 6 Rl 9w wfw w1 S SR |

State any four powers of the Securities and Exchange Board of India.

Teh ST9R Sl HedTohd hid THI, Teh ITHT Sl IR el W faaiu TR & g
8, $TH 9 U § UTEISHT Tauea a giadq | 31 i ol J&9 § 9935y |
While assessing the market, an entrepreneur has to prepare details on
four factors, one of them being ‘project innovation and change’. Explain

briefly the other three.
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Bhoomika started a pottery unit employing differently abled people to

make and sell sculptures made of clay. She also made sure that the
material she used is easily decomposable. During the months of
September and October she increased the scale of production as the
festival of Diwali was round the corner.

Identify the component of business environment at a macro level that is
reflected in the above situation. Also identify any two values

communicated by Bhoomika through her working.

S-SR J=TAH! ATl Toh AFell SJ@T o WIE foslieh § Jedeh =01 i 3=

TqH W, 3fd e U, 3tud wng W o S ' | U Y=o i SAfiehan

el o w1 freafed foram S g |
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(%) ©H s UgIH HINT |

(@) 30 9 & 3=diid 3UshH i o9 feufeat gt € | 37 o feafen ==
q&q H FHEST |

Picturising ahead every step in a long series of separate operations, each

step to be taken in the right place, of the right degree and at the right
time. Each operation is to be done at maximum efficiency.

This is the objective of one of the components of a business plan.

(a)  Identify the component.

(b) There are three situations before the venture under this

component. Explain briefly those three situations.
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(%) ‘RS ASHT T FT AL g ?

(@) fow Ty faa v & foru amfes 99 & foes % wgw &
Torelt weh forrg o1 3@ IR
(i) Tromms
(i) It

(a)  What is meant by a ‘Business Plan’ ?

(b)  State any one importance of writing a business plan for each of the
given interest groups :
(i) Investors
(ii)) Entrepreneurs

“UTgeh Trey ey’ feptl saadTd % fore i meaqel B 2 ey o wuesy |

Why is ‘Customer Relationship Management’ important for any
business ? Explain briefly.

et g SIS T T U I SAaE Il 8 | 369 gRT o
S ATl A% TS hi TN BT 16,000 $HTE 8 | 9% Feladd 6l Jfd 318
TIfYeh IR AT T 48 B AT Y AN T 1,500 B | I FAFEd <hl 3TTfofen
AT [TAT S TUMET HITT |

Paramveer Singh runs an online business for gym equipments. The
annual demand for the Waist Flexors sold by him is 16,000 units. The
annual holding cost of Waist Flexors per unit is ¥ 48 and the cost of
placing an order is ¥ 1,500. Calculate the Economic Order Quantity of
Waist Flexors.

IE Uh VAT SR 8 @l ¢ U QO forfl gt s s wd wlied w1 foekey
2 | I ST ghrsal @ HHl et sl # fody g gEaaid A d
TETIdT T 7 |
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(@) iy 3ohrsal & HHT aTcil shrsal | focfia SETeER gEaTaid S Tl
Sl 1 T G |

This is a market where there is an option to sell and buy new and old

financial instruments. It facilitates the transferring of financial resources

from surplus units to deficit units.

(a) Identify and define the market.

(b) Name the function of transferring of financial resources from
surplus units to deficit units.
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Idea germination is the seeding stage of a new idea in the creative
process. Explain the next four stages in the process.

Ui g &1 g Uit e &g T WH o U oTmavees fohegl @R wiAfheh
Tfafafemt = 3g@ hifsm |

State any four primary activities that are essential for a firm to have a
competitive advantage as given by Porter.

TSI IR dTell Ueh TS SAhIead fifiids’ sheil-3caf bl H i

AT FHel-Te-o o T gg-Hepfodd g | HFTH! 379 HH=TNE! o I %A AF
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3o TS 19 1 ITANT TSR | 3U b &Y H fohaT SIAT B | 399 SU @ldi
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(M) Teifeam fafiee g wa it @it fe T feedl gt et & oft
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Infotics Ltd. has been a socially responsible organisation determined to
reduce waste generation and do waste management. The company runs a
low cost canteen for its employees. It uses the available waste in the form
of vegetable and fruit skin and unused food for composting. The methane
gas so produced from this is used as fuel in the kitchen. This saves the
fuel resources.

(a)  Identify the type of ‘added value’ in this process.

(b)  Briefly explain any other type of ‘added value’ besides the one
identified in (a) above.

(c) Also state any two values communicated by Infotics Ltd. to the
society.
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Industrial finance is a very complicated problem. To meet the growing
needs of the industries and entrepreneurs, heavy flow of finance is
required. For this, various financial institutions have been established at
the National and State levels. These institutions provide developmental

finance.
(a)  Give the name of the group of financial institutions.

(b)  Also, give any six points stating the need for such institutions.

22. T T WiEt fomes g 51 sfoad! foee dfam whm (ELSS) 1 9FIGR &A1
ATt 8 | 394 faw % fotu et g stven! € sEafat o foewer fou € | g
HET I THAT W IR hl T I TR TH 1 Goa it foh a8 el

faw =t 2 6
P Few! fdAftes | sfier fafues
T T

ERRREINER 20,00,000 20,00,000
icd I 10,00,000 10,00,000
S ¥ foie U SR W S 60,000 50,000
gid H18 < T /A 6l AT 7,00,000 8,50,000
artees fasea 3 10,00,000 15,00,000
I 2,40,000 3,60,000
SERIY 75,000 1,00,000
ESREIN 5,500 6,000
R 20% 25%
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Raman is a potential investor who wishes to be a part of Equity Linked
Saving Scheme (ELSS). He has given the particulars of two companies to
seek your advice for investment. Compare the Return on Equity of the
two companies and suggest to Raman where he should invest.

Particulars Alph; Ltd. Bete% Ltd.

Total Capital Invested 20,00,000 20,00,000
Owned Funds 10,00,000 10,00,000
Interest on Borrowings from Bank 60,000 50,000
Cost of Goods Sold per month 7,00,000 8,50,000
Monthly Sales Revenue 10,00,000 15,00,000
Salaries 2,40,000 3,60,000
Utilities 75,000 1,00,000
Depreciation 5,500 6,000
Tax Rate 20% 25%

‘Tufaet fafiee’ st o gaem Raeia o9 aTelt U ol weot 8 | Heo
T THT ATE Sie aTe diehar ek 31 ¥ fehfaa s i wfska & B, e
g1 o HTAT-fT S MW % T S § g e 6, 3T sl Sl Ha¥ A b |
T TR 38 TR h 2 T afhd % 9= § wew faie & ot @ oft S|
& S afeRd I AT B W TSR TEH AT g 3T =t % forg fee
fopu T Hew 1 Setd § | Tl und # a8 U avedd B, dAfh 36 3 &
foeeft T veet ¥ € IR # Iufeed | 9o # Sufd ‘aftadasiel ekl
(fea=d)” =l &g H Tad g¢ Yoy U qoa-fuior wilifa = fuifa s
=TT 2 |

(%) 38 Yea-farer Wit 1 ggam FHINT S8 ST9aH &1 FIeHT o1 51
@ 2 | 3@ gea-fauir Tl % 49 et & fauum sRwm 1 sgE
HIT |

(@) ‘fufea fafee = 30 gea-fufor §ifd =t s @ 89 o feedl @
Tl T T 39 I IgW@ HINT |

(7)  3I9Tg K YRl Bl AW H TEd g¢ UE fadwer gEen w1 gee die S
FHIT ek 3N g % forawor 39 IweE @ |
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‘Mittil Ltd’. is a leading company for manufacturing of soft toys for
children. The company is in the process of developing a prototype for a
talking pillow, ‘Talk O Hug’, which would enable parents to convey
messages to their children when they are away at work. The mechanism
is such that the message is recorded in the device in the pillow and the
moment the child touches the pillow, the speaker sensors would repeat
the message recorded by the parents for their children. Though an
innovation for India, imported versions of this product are already
available in the market. The management wanted to devise a pricing
strategy to target the ‘switchers’ present in the market.

(a)  Identify the pricing strategy that the management is planning to
adopt. State the marketing objective of the company behind this
pricing decision.

(b)  State any two advantages and one disadvantage of adopting this
pricing policy to ‘Mittil Ltd.’

(c) Keeping in mind the nature of the product, suggest the

distribution channel that would suit the company for distributing
‘Talk O Hug'.

gl v T aftss gea-fafenfces 2 3 &fior B gu Ty gaehish o faw 4
fafa & | 3= iy feen ot urn fb @ @m i Sfua sted Sfew B
Ul H GUR L Hehdl 8 | IR T JAlgdd hdH TEesIE TR Sl
M1 SAfh Ry &l ey -aracet STawasharedi o 3TI&d JgH R ST 7 |
HEEEeH H WE W dTel @ H i Biec |8 a1 iy Alidd 49 Ia81 & | I8
IRR % T smmawas |l My dives dwl dfgd foFT da 1 @I 39aed
FA B | IR T F I haed STl B I i TS, AfehT wifeh AN Tamees
% faw § e 8 ® € ofa: Heieised o TFl Wt St e wie
H AT TR B

(%) . | g @ T Rer-a W gEeT Te Ewesy |

(@) 3IwdH (%) ° vga U fem-aw & orfafes fRedl @ femm-ami @

3eTeun |fEd 3@ i |
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Dr. Bhim is a senior cardiologist and is concerned about the depleting
health index. He researched and found that proper eating habits can
improve the quality of life. He initiated ‘MediBytes’, a unique canteen,
where the food is provided as per one’s health needs. The food served at
MediBytes has no fast food and no aerated drinks. It provides zero-oil
food with all the basic nutrients required for the body. Initially these
canteens were started in hospitals but since people are becoming health
conscious, MediBytes is planning to open their branches in other

locations also.
(a)  Identify and explain the idea field that was explored by Dr. Bhim.

(b)  State any two idea fields with examples other than the one

identified in (a) above.
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